
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

2521.8 × 0.1 = ________ 4535.4 × 0.1 = ________

7903.9 × 0.0001 = ________ 3505.6 × 0.01 = ________

2643.7 × 0.01 = ________ 2841.7 × 0.0001 = ________

6763.2 × 0.001 = ________ 5483.7 × 0.01 = ________

8454.9 × 0.01 = ________ 4143.8 × 0.001 = ________

3118.9 × 0.0001 = ________ 1811.9 × 0.0001 = ________

2820.7 × 0.1 = ________ 6031.9 × 0.001 = ________

9432.8 × 0.1 = ________ 4285 × 0.0001 = ________

9719.6 × 0.1 = ________ 5393.8 × 0.0001 = ________

9027.2 × 0.001 = ________ 4304.5 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

2521.8 × 0.1 = 252.18 4535.4 × 0.1 = 453.54

7903.9 × 0.0001 = 0.79039 3505.6 × 0.01 = 35.056

2643.7 × 0.01 = 26.437 2841.7 × 0.0001 = 0.28417

6763.2 × 0.001 = 6.7632 5483.7 × 0.01 = 54.837

8454.9 × 0.01 = 84.549 4143.8 × 0.001 = 4.1438

3118.9 × 0.0001 = 0.31189 1811.9 × 0.0001 = 0.18119

2820.7 × 0.1 = 282.07 6031.9 × 0.001 = 6.0319

9432.8 × 0.1 = 943.28 4285 × 0.0001 = 0.4285

9719.6 × 0.1 = 971.96 5393.8 × 0.0001 = 0.53938

9027.2 × 0.001 = 9.0272 4304.5 × 0.01 = 43.045
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